
4.4 1) AB =







1 2 3
2 1 1

−1 1 2













2 3 2
0 1 2

−1 4 1





 =







−1 17 9
3 11 7

−4 6 2







2) AC =







1 2 3
2 1 1

−1 1 2













1 1 1
0 1 1
0 0 1





 =







1 3 6
2 3 4

−1 0 2







3) AB + AC =







−1 17 9
3 11 7

−4 6 2





 +







1 3 6
2 3 4

−1 0 2





 =







0 20 15
5 14 11

−5 6 4







4) B + C =







2 3 2
0 1 2

−1 4 1





 +







1 1 1
0 1 1
0 0 1





 =







3 4 3
0 2 3

−1 4 2







5) A (B + C) =







1 2 3
2 1 1

−1 1 2













3 4 3
0 2 3

−1 4 2





 =







0 20 15
5 14 11

−5 6 4







6) A + B =







1 2 3
2 1 1

−1 1 2





 +







2 3 2
0 1 2

−1 4 1





 =







3 5 5
2 2 3

−2 5 3







7) A2 =







1 2 3
2 1 1

−1 1 2













1 2 3
2 1 1

−1 1 2





 =







2 7 11
3 6 9

−1 1 2







8) B2 =







2 3 2
0 1 2

−1 4 1













2 3 2
0 1 2

−1 4 1





 =







2 17 12
−2 9 4
−3 5 7







9) A
2 + 2AB + B

2 =







2 7 11
3 6 9

−1 1 2





 +







−2 34 18
6 22 14

−8 12 4





 +







2 17 12
−2 9 4
−3 5 7







=







2 58 41
7 37 27

−12 18 13







10) (A + B)2 =







3 5 5
2 2 3

−2 5 3













3 5 5
2 2 3

−2 5 3





 =







9 50 45
4 29 25

−2 15 14







11) A2
− B2 =







2 7 11
3 6 9

−1 1 2





 −







2 17 12
−2 9 4
−3 5 7





 =







0 −10 −1
5 −3 5
2 −4 −5







Opérations sur les matrices 4.4 : corrigé



12) A − B =







1 2 3
2 1 1

−1 1 2





 −







2 3 2
0 1 2

−1 4 1





 =







−1 −1 1
2 0 −1
0 −3 1







(A + B) (A − B) =







3 5 5
2 2 3

−2 5 3













−1 −1 1
2 0 −1
0 −3 1





 =







7 −18 3
2 −11 3
12 −7 −4







Opérations sur les matrices 4.4 : corrigé


